B
B
A B A
2
[A] B [B]
5 1
v =K[A] [B] 5 1
A B
3 0 273.16
A B
A B
B A
A [A]
5 2
v=k[A] 5 2
A B
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Eal

( K1 Eal
Arrhenius 5 3

2
Ea 2

P
—
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Ea

Eal

N

Ea?

Ea



1.3 1
1.2

1.1

0.9

0.8 - : : : : :

AG
AS

Eal= H T S

AG AH-TAS

100%

80% -

60%

40% -

20% -

:xeRT:Ze RT —

100

AH

AH AS
+

w >

0% L T L T L T L T L T L] L] L] L]
-5 -4 -3 -2 -1 0 1 2
(kcal/mol)
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3kcal/mol

994
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AG O
1kcal/mol

AH

3
4
van der Waals

27

31



AH

3

20
mg/L
H, 0.17
He 0.15
NH3 526000.00
Ne 0.98
C,H, 119.31
N, 2.37
CoHy 15.36
(0N 4.47
H,S 3846.00
Ar 6.39
CO, 168.06
NO, 117.11
SO, 112800.00
Kr 28.80
Xe 72.97

59




2 3
1
3
2 (g/1009)
Cl Br NO; OH CN CO;2 HCO; | HPO,? g S0,2

Na" 36 475 88 63.5 37 215 9.6 7.7 15.8 19.8
K* 34 65.2 31.6 112 715 52.5 24.9 159 107
Mg® | 545 96.5 421 26.2
cat| 745 143 56.39 0.17 4x10 ° | 017 | 2x10 ? 0.208
Ba®| 357 104 9.2 3.89 2x10 3 2x10 2
AP | 473 73 9x10 * 26.7
Fe”' | 376 535 456 | 7x10 © 7x10 ° | 265
Fe* | 919 46.6
Co®| 346 50 3x10 4 | 4x10 3 4x10 4 | 265
NiZ* | 396 56.7 485 | 1x10 3 ox10 2 37.8
cu*| 415 55.9 5558 | 3x10 ° 3x10 ° | 207
zn®| 367 81.7 1175 | 4x10 * | 5x10° 53.8
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5 2
K Na
Mg Ca Ba
Fe
Al
51
5 3
0 20 40 60 80 100
2.59 4.8 8.02 12.9 19.11 28.7
6.9 9.6 12.7 16.4
109 129 174
35.7 36 36.6 37.3 38.4 39.8
27.6 34 40 455 511 56.7
29.4 37.2 45.8 55.2 65.6 77.3
52.8 545 575 61 66 73
74.4 91.9
14.3 20.7 285 40 55 75.4
3 6 13.6 35.3 154
2.75 34
0.17 0.29 0.56 1.16 2.8 6.46
2.8 6.9 16.2 35.8 70.8 122.9
141.8 225.2 331.6 452.6 671.7
341 7.7 15.08 31.69 140
9.2 22.6 43.3 78.3 125 185

61




AH

AS
5 3
0 100
100
Bronsted
A
HB
1s
1s
2

Lewis

62

20

HA

B +

P

HA

AS
HED



HA H*

A
A B
k, k
5 2 5 1 5 6
0
5 6 5 7
v=-Kk [ HA] +k [ HT[A'] 5 6
« Ko _ [HI[A] .
kg [ HA]
[ H] :Km-[A[i_A]]— 5 8
PKy=-109(Kip) 5 9
Kha
5 7
5 8
pKa 5 4
pKa
pKa 520 4.75
0.3
pKa
B HB
k K,
5 6 5 10
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5 4 pKa 25
pKa
HCI Cl 7.00
H,S0, HSO, 5.20
HNO; NO; 1.40
HSO, S04 1.92
HPO, H,PO, 2.12
HCOOH HCOO 3.75
CsHsCOOH CeHsCOO 4.19
CH3COOH CH3COO 475
H,CO; HCO; 6.37
H,S HS 7.04
H,PO, HPO,2 7.21
HCN CN 9.10
HsBO3 H,BO3 9.14
CeHsOH CeHsO 9.89
HCO;3 COs° 10.25
HS & 11.96
HPO,? PO,? 12.67
H,BO; HBO3 12.74
HBO3? BO;® 13.80
CH3OH CH30 15.00
H,0 OH 15.70
CH3COCH; CH3COCH; 20.00
NH; NH, 36.00
CeHs CeHs 43.00
0
10 5 11
5 11
7 12
pKa
5 pKa




55 pKa 25
pKa
C4HeN" C4HsN 2.9
4;0+ H.0 1.7
H,NCONH;" HNCONH; 0.1
CH3CONH;" CH3CONH; 0.63
HOOC(CH,),CH(COOH)NH3;" | HOOC(CH,),CH(COO )NH;" 2.13
CsHeN4>* CsHsN4" 2.3
CH3CH(COOH)NH;" CH5CH(COO )NH3" 2.35
CsHaN4NH5** CsHaN4NH3" 412
HOOC(CH,),CH(COO )NH;z" | OOC(CH,),CH(COO )NHs" 431
CeHsNH3" CsHsNH; 4.63
H3N"(CH2)4CH(COOH)NH3" | HaN(CH2)4CH(COO )NHs" 5.05
CsHeN* CsHsN 5.25
CaHsN," CaHaN, 6.95
CsHsN," CsHaN, 8.96
\H," NH3 9.25
(CH3)sNH* (CH3)aN 9.81
CsH3NsNH;" CsH3NsNH; 9.83
H2N(CH,)4CH(COO )NH3" | HoN(CH,)4CH(COO )NH 10.53
CH3NH;" CH3NH, 10.66
(CH3),NH," (CH3),NH 10.73
CaHaN, CsHaN, 14.3
v=-k,[ H] [ B] +k,[ HB] 5 10
K. az Ka _ [HT[B] .
HB Kp [ HB™]
[ H'] =K+ [HB] 5 12
HB _[TB]_
pKa 9.25 463
pKa
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Bronsted HA

H* A
8 H* BH
(HA) (B)
HB A
5 8 5 12 5 13
[BHTIA] _ K o
[BITFAl K
5 5
pKa
700 925 5 13
1016.25
R R
\\;N:) + H—X \\;N@_H . X
H HY
pKa R=H: X=Cl :
475 463 R=Coh: X=0COCH,:
5 5
100.08
pKa 157 5 6
pKa 17

HE=—= Ho+H pKi-1.7
e HO=—== HE+H K 15.7

5 6
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NH,OH pKa

5 15
pKa
H,O" 5 16
2
HA H* A
Kha B
H* BH K+
5 5
N . 9.25
[RLAINA] Ky _ 10 — 10545 5 14
[ OH ][ NH,™] Kho 1071570
[RA[HSO] _ Kyso, _ 1092 —10209 5 i
[OH ][ H,S0,] Ko 107570
[RA[HSO]  _ Kyg _ 10070 — 10350
5 16

[ H;O'] [ HSO, "] Kiyso, 10520
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13
OH
10
27 1
6kcal/mol
3
|
oH P—C—(CHi—CHs
H,C H,C
2 \ 2 \ ”
GH—OH GH=0—C—(CH)y—CH
H,C H,C
AN AN
OH O_ﬁ_(CHz)n_CH3
0 n=12 16)
CH CH
[ [ HaC o2
C C CH  CH,
H%( :|CH H,C” CH Ha CHg)
2 ~“NA-CH H,C CH
HeC—C._|_CH,  H,C_ _CH, HC™ S CR T2t e
| ~C CH H, CHéI [
CHH | ho ~J_CH, H,CH\C CHs
N 2| | | H,
H,CZ  CHs
HO/CH\C/C%C/CHZ
H, H
5 7

68



69



17

16

18

6kcal/mol

15

70

17



|
0 Hch:—o—c—anm H2(|3—OH

HpnCi—C—O—CH _NaoH ( |l o+ N?) + HC—OH
H,Ci—C—O 3
HZC—O—ﬁ—CnHm H,C—OH
O
n=15or 17, n=31or 330r 35 5 17
Bronsted
2
pKa pKa
pKa
pKa<1 pKa pKa
pKa 5 6 5 6
pKa 8
pKa 49
pKa
pKa C
pH 5 18
pKa 5 6
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pH :%(IogC+ pKa+14) 5 18
5 6
0.1M

Ka A
3.75 HCOONa 8.4
4,76 CH3COONa 8.9
4.87 CH3CH,COONa 8.9
4.83 CH3(CH,),COONa 89
4.84 CH3(CH,);COONa 89
4.86 CH3(CH,).COONa 89
4.89 CH3(CH,)sCOONa 89
4.89 CH3(CH,)sCOONa 89
4.95 CH3(CH,);,COONa 9.0
4.90 CH3(CH,)gCOONa 9.0
421 CsHsCOONa 8.6
9.99 CgHsONa 115
p 10.26 CH3CgH4sONa 116
0.70 CgH5SO3Na 7.0
15.74 NaOH 13.0
1554 CHsONa 13.0
16.00 CH3CH,ONa 13.0
14.16 HOCH,CHOHCH,ONa 13.6
10.50 CHsCH,SNa 11.8
10.66 CH3(CH,);SNa 18
7.80 CsHsSNa 104

100g 0.49g

1L



BOD

\\S//
<O
i A a \\s// ©
2C_ O \S/ I e G
RN RP2C 4
. ! H H2
o, O oA O. JOH S
A4 o C S N/ /<O\ O OGO
R\o SLO RA N RN RUPLe R < O 8 ﬁ
5 H2 6 () 7 O 2
0
o)
HgC\(_R/CHg ch\%/CHg \%/CHsn . @ (|_:|2 y:
R \CHS R SR N e o )
10 H2 1 ° H2 H, 12
c Ro__N C
\ - %OH \ - OH \ - %OH \ﬁ ﬁ/ 0H>2
o) 16

HO
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Ka 212

12 18

pKa 0.70 -3.00

74



1n

12

H2C=CH2

5 9 14
H
—_— > —_— N~
Ag H,C—CH, NaCOH R (|_3| OH
> 13
R.-OH haCH 4 H
R o) C
S eatiogl %OH
I Hy
o) 15

75



1950

76

12




5 12
i
R
TV =n,RT
5 20
MM=c,RT = 2R

Pb

van't Hoff
A

Np

3.6

7

20

Mgy



